15.1 The Nature of the Equilibrium State
The Equilibrium State
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15.1 The Nature of the Equilibrium State
The Equilibrium State

Fe3* + SINT ¢ Festn™
Ot Zqudidrwn - dmhicd Rode of Joriond Reachien = AmYied Role of e Reverse Reaction,
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15.2 The Equilibrium Constant, K
The Equilibrium State

The Equilibrium State
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Initial Final
Fe® + SIN” & Feqtn Concentrations Concentrations
[Fe**] =  0.0000 M 0.0000 M
[SCN] =  0.0000 M 0.0000 M
[FESCN?*] = 0.0000 M 0.0000 M
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15.2 The Equilibrium Constant, K
Equilibrium Constants — Meaning of the Magnitude of K

K: W»1 K<<l K =>1

K» 1 Izt + (alg <= 2 1) K= 2.1¥10% @ 25°C
Paoduct- fovored reaction.

(@ iqu\Y‘Q;musm - veay JW¥e Ia(g) amd Qalg) m\mimmgq

K<l CH3COaNog) + Ha0(9)é&r CHCOL +W30" Wr 13x10°3 @ 25°C
ReacYom! - Sovored Reochon,

@ 2quihiBriom :- weay TM%e CWaCO2 amd Ha0' produced

Wzl 2 NOa(gy <=7  N20u(g) Kr Ly @ 25%
© fquibrwm ;- sygmSicant amouwnts of NO2tgd amd NaOulg) phesemt.



16.2 The Equilibrium Constant, K
Equilibrium Constants — Meaning of the Magnitude of K

The equilibrium constant, Kc, for the following reaction is 1.29x10-¢ at 600 K.
COCl,(g) ¢ CO(g) + Cly(g)

Assuming that you start with only COCI,, describe the relative abundance of

each species present at equilibrium.

- [COCIL(9)] a. Higher / b. Lower c. Can’ttell

HEHHE

[CO(9)] a. Higher b. Lower / c. Can’ttell
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15.2 The Equilibrium Constant, K
Writing Equilibrium Constant Expressions

A *+ B <& cC + 4D
K. e ooy
- AT
Howeven : o) Pure 5Rids do mo¥ appear in the expression.
%) Yure Niquids amd solvenls do mot appesr i e expression.

o L * Na0(gh <=7 Ha@d + COMQ) K = CHalico)
{H20]

$)  CH3C002Y10q) + HaOIR €7 CH3TO0a" + W0’ K= 093002 )(150)
{CH1C0aH])



